MIAM IDADE o~ , MIAMI-DADE COUNTY, FLORIDA
] METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE
METRO-DADE FLAGLER BUILDING

140 WEST FLAGLER STREET, SUITE 1603
MIAMI, FLORIDA 33130-1563

PRODUCT CONTROL NOTICE OF ACCEPTANCE (305) 375-2901 FAX (305) 375-2908
KML Windows, Inc. CONTRACTOR LICENSING SECTION
23 Buchanan Court (305) 375-2527 FAX (305) 375-2558
London ,On N5Z 4P9 CONTRACTOR ENFORCEMENT DIVISION

(305) 375-2966 FAX (305) 375-2908
PRODUCT CONTROL, DIVISION
(305) 375-2002 FAX (305) 3726339
Your application for Notice of Acceptance (NOA) of:
Aluminum Clad Qutswing Wood French Doors - Non-Impact and Impact Resistant
under Chapter 8 of the Code of Miami-Dade County governing the use of Alternate Materials and Types of
Construction, and completely described herein, has been recommended for acceptance by the Miami-Dade
County Building Code Compliance Office (BCCO) under the conditions specified herein.

This NOA shall not be valid after the expiration date stated below. BCCO reserves the right to secure this
product or material at any time from a jobsite or manufacturer's plant for quality control testing. I[f this
product or material fails to perform in the approved manner, BCCO may revoke, modify, or suspend the
use of such product or material immediately. BCCO reserves the right to revoke this approval, if it is
determined by BCCO that this product or material fails to meet the requirements of the South Florida
Building Code.

The expense of such testing will be incurred by the manufacturer. %/ %‘,52

ACCEPTANCE NO.: 00-1030.02
EXPIRES: 04/26/2004 Raul Rodriguez
Chief Product Control Division

THIS IS THE COVERSHEET, SEE ADDITIONAL PAGES FOR SPECIFIC AND GENERAL
CONDITIONS
BUILDING CODE & PRODUCT REVIEW COMMITTEE

This application for Product Approval has been reviewed by the BCCO and approved by the Building
Code and Product Review Committee to be used in Miami-Dade County, Florida under the conditions set

forth above. : / ,
Francisco J. Quintana, R.A.
Director

i Miami-Dade County

APPROVED:_04/26/2001 Building Code Compliance Office

5045000 1\pc2000\\templates\notice acceptance cover page.dot

Internet mail address: postmaster@buildingcodeonline.com @ Homepage: hitp://www.buildingcodeonline.com



T

KML Windows. Inc ACCEPTANCE No.: 00-1030.02
APPROVED . APR 26 2001
¢ EXPIRES . APR 2 6 2004

NOTICE OF ACCEPTANCE SPECIFIC CONDITIONS

SCOPE

This approves a wood French door, as described in Section 2 of this Notice of Acceptance, designed
to comply with the South Florida Building Code (SFBC), 1994 Edition for Miami-Dade County, for
the locations where the pressure requirements, as determined by SFBC Chapter 23, do not exceed
the Design Pressure Rating values indicated in the approved drawings.

PRODUCT DESCRIPTION
The Aluminum Clad Outswing Wood French Door —Non-Impact and Impact Resistant and its

components shall be constructed in strict compliance with the following documents: Drawing No
1003D, Sheets 1 through I3 of 13, titled “Aluminum Clad Wood French Doors (Dade)”, dated
09/05/00, signed and sealed by Warren W. Schaefer, P.E. bearing the Miami-Dade County Product
Control approval and renewal stamps with the Notice of Acceptance number and approval date by
the Miami-Dade County Product Control Division. These documents shall hereinafter be referred to
as the approved drawings.

LIMITATIONS
This approval applies to single unit applications of pair of doors and single door only, as shown in

approved drawings. Single door units shall include all components described in the active leaf of
this approval.

INSTALLATION
The wood swing doors and its components shall be installed in strict compliance with the approved

drawings.
Hurricane protection system (shutters): to determine whether the installation requires a hurricane
protection system or not, see corresponding table in approved drawing.

LABELING
Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and

following statement: "Miami-Dade County Product Control Approved".

BUILDING PERMIT REQUIREMENTS
Application for building permit shall be accompanied by copies of the following:

6.1.1 This Notice of Acceptance

6.1.2 Duplicate copies of the approved drawings, as identified in Section 2 of this Notice of
Acceptance, clearly marked to show the components selected for the proposed installation.

6.1.3 Any other documents required by the Building Official or the South Florida Building Code
(SFBC) in order to properly evaluate the installation of this system.

Wfl’/ﬂj/b@

Man cl /ercz P.E. Product C@ol Examiner
Product Control Division




T~

KML Windows, Inc ACCEPTANCE No.: 00-1030.02
APPROVED APR 2,6 2001
EXPIRES APR 2 6 2004

NOTICE OF ACCEPTANCE STANDARD CONDITIONS

. Renewal of this Acceptance (approval) shall be considered after a renewal application has been filed
and the original submitted documentation, including test supporting data, engineering documents, are
no older than eight (8) years.

. Any and all approved products shall be permanently labeled with the manufacturer's name, city, state,
and the following statement: "Miami-Dade County Product Control Approved", or as specifically
stated in the specific conditions of this Acceptance.

. Renewals of Acceptance will not be considered if:

a) There has been a change in the South Florida Building Code affecting the evaluation of this
product and the product is not in compliance with the code changes;

b) The product is no longer the same product (identical) as the one originally approved;

¢) Ifthe Acceptance holder has not complied with all the requirements of this acceptance, including
the correct installation of the product;

d) The engineer who originally prepared, signed and sealed the required documentation initially
submitted is no longer practicing the engineering profession.

. Any revision or change in the materials, use, and/or manufacture of the product or process shall
automatically be cause for termination of this Acceptance, unless prior written approval has been
requested (through the filing of a revision application with appropriate fec) and granted by this office.

. Any of the following shall also be grounds for removal of this Acceptance:
a) Unsatisfactory performance of this product or process.
b) Misuse of this Acceptance as an endorsement of any product, for sales, advertising or any other

purpose.

. The Notice of Acceptance number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the Notice of
Acceptance is displayed, then it shall be done in its entirety.

. A copy of this Acceptance as well as approved drawings and other documents, where it applies, shall
be provided to the user by the manufacturer or its distributors and shall be available for inspection at
the job site at all time. The engineer need not reseal the copies.

. Failure to comply with any section of this Acceptance shall be cause for termination and removal of
Acceptance.

. This Notice of Acceptance consists of pages 1, 2 and thys last agci.u//Q
AL AL

Marfuel Pc;rez, P. E., Produc ntrol Examiner
Product Control Division
END OF THIS ACCEPTANCE
3




(000K

RECTANGULAR _ EXT. EXT.  TRAPEZOID EXT,
SEGMENTAL HALF ROUND TRIANGLE

JEN

0

DOUBLE
RECTANGULAR

DOUBLE EXT.
PARTIAL SEGMENTAL

EXT. REV.
SEGMENTAL

| WA ]
DOUBLE EXT.
QUARTER ROUND

DOUBLE EXT.
HALF ROUND

VINYL NALL FIN
(OPTIONAL WITH
SHEAR SCREW
INSTALLATION)

b

37 5/8" MAX. OSM

N

48A
NO. 12 SMS
INTO BUCK

(2 PER TOP
HINGE)

{

SHEAR SCREW
INSTALLATION

/
/" ACTIVE

% @/@7\ I

SEE OTHER ELEVATION
FOR CLIP INSTALLATION

& [®)

S HINGE [T @_ *
E ) b i
g l \\ < |~ 24 7/8" MAX. D.L.O.——-\l
TRI’)AQI;JEBZLOEID PB\%#!%.ES?((;TME,;EXL = - ‘ 31A & 32} \t-
SHAPES CONSIDERED AS PART OF THIS @ J \ ¢ BIgALiB
APPROVAL FOR BOTH IMPACT & N0, T3 S I \ |
NON-IMPACT WITHIN 4" OF Y1t // 1y +
CORNERS & @ | ~
- MAX. 12" 0.C. ™) >~
NOTE: FOR COMBINATION OF + \ o -
UNITS, SEE SHT. 3 & MULLION ° g i <
DRAWING NO. 1003E 2w . T:’L
il a1 1
ALLOWABLE DESIGN LOADS I R
NOm#‘SPACT SEE "NON-IMPACT LOAD TABLES” ON SHEET 12| [T7 \ NI 1
IMPACT UNITS | +65 PSF/~70 PSF T 4 |

FOR JAMB FASTENER EMBED & EDGE
DISTANCE REQUIREMENTS SEE SHEET 3

37 5/8" X 95" SINGLE

RECTANGULAR FRENCH DOOR

GENERAL NOTES

SCALE:3/4"=1"-0"

1. THESE DOOR SYSTEMS HAVE BEEN TESTED, ANALYZED AND APPROVED FOR

DESIGN PRESSURES NOT TO EXCEED THOSE SHOWN ON THESE DRAWINGS.

2. BUCKING, OPENINGS & BUCKING FASTENERS MUST BE DESIGNED & INSTALLED
TG WITHSTAND WIND LOADS AS DETERMINED FOR EA. APPLICATION

3. ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS 8.

& MAY NOT VARY UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS.

4. THE DETAILS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS 7.

PROPOSED FOR WATER, AIR, IMPACT, CYCLIC & UNIFORM STATIC AR
PRESSURE TESTING IN CONFORMANCE WITH DADE COUNTY PROTOCOLS PA 201,
202 & 203 FOR BOTH iMPACT & NON-~IMPACT WINDOWS.

8.

1 3/8"

THIS PRODUCT HAS BEEN TESTED IN ACCORDANCE WITH DADE COUNTY

1/4" TAPCONS WITHIN 4" OF
CORNERS & MAX. 12" O.C.
WHEN INTO CONCRETE

NO. 10 SMS WITHIN 4" OF
CORNERS & MAX. 12" O.C.
WHEN INTO WOOD FRAMING

74 3/16” X 95" DOUBLE

74 3/16° MAX. OSM
1/4" TAPCONS WHEN INTO
CONCRETE HEAD (2 PER STRKE PLATE)
ALL ELEVATIONS VIEWED 3868%3‘5 (gHEERINsTT%mE PLATE) 27
FROM EXTERIOR BB . @ Ygé)%ow N
EE "CORNER DETALS" \>/ 5 SHEAR SCREW
N SHEET 8 \(\“ —r N\ o INSTALLATION)
. / H i -:- E(\I
4/ N, " \H‘ “ =
H ._/ il S in
Al // @ 1IN AN
L / l”l ru] e
“NO. 12 SMS s SHEAR SCREW. i ¢ y
*(ngEBRUggP INSTALLATION ully N\
SEE OTHER ELEVATION !
HINGE) o FOR CLIP INSTALLATION i AN i
bl NVANE
S M |24 778 wa ool || N\
13 o T : - i g =
g , INACTIVE | »| ACTIVE | & g
: o | Ve ®
PR . 1 "l . g i
- N 2
\‘ j \ ({:_ __:B Iﬁy / E 0
A || /
| Pk
: N\ TANDLE 17 W / :
+ \ u | "
saes | A e 2
gé)RNER% ¥ |4 TR Iy / I
MAX. 12" 0C. | |p Ble b e gL s E
il o - T
I{ J S
o | | \;g yl | o=
| ! A ! ! INo. 10 SMS WHEN INTO

WOOD SILL (2 PER STRIKE
PLATE)

65

RECTANGULAR FRENCH DOOR

1/4" TAPCONS WHEN INTO

SCALE:3/4"=1"-0"

5. ALL JAMB TO BUCKING SHEAR FASTENERS MUST PENETRATE BUCK A MINIMUM OF

IF PENETRATION IS LESS THAN 1 3/8" THEN SCREW LENGTH SHALL
INCREASE AS REQUIRED.
THESE DOOR SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH
THE SOUTH FLORIDA BUILDING CODE, 1994 EDITION. '

PROTOCOLS PA-201, PA~-202 & PA-203 FOR LARGE MISSILE IMPACT,
STRUCTURAL & CYCLIC TESTING.
FOR ALL NON-IMPACT WINDOWS, MIAMI-DADE COUNTY APPROVED SHUTTERS ARE REQUIRED.

&

CONCRETE SILL (2 PER
STRIKE PLATE)

APPROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE

BUILDING CODE COMPLIANCE OFFICE
ACCEPTANCENO.J D= (030.02
gez(030.02

DATE:
1 03/29/¢1

PLOT: 1216

NO.| REVISION DESCRIPTION

o
o
*
N
T9]
z
(m =<
o [r4
<C d:’g
€1z8%.
o3¢
£Ion
ogg J
0 -—
o0 00
€| 2650
(@) ;Do/\
QIx m™—- 9
D 0 -
S=EmnmZ 0
I X NO
O j& Q
5F 3
[r 4 ot
e
[©) "
ol Z g
(o] i b
o 1Y} . 03n
=1 Y4E5%
<n Tm .
AR
s 2T,
O | WS juf
Y= =
3| B384
Z| Lpyde
= | £Z2E50
o oozﬁn
23 RO 8]
z_.4838
= I Oay
= 2, ]
£ I8 &
w
o
L it -
o o
= Tt
=le~ E:
< T
gF )
el =
(F1)
L= :
Olef ze
= g
=
oRiAgS% NO. JREV.
SHEET NO.
1 o 13




—

' s
» WH.S. 09/05/00
” 4 3/16" MAX. OSM - TOATE
74 3/16" ax. OSM ALL ELEVATIONS VIEWED R e— Pl e
1/4° TAPCONS WHEN INTO FROM EXTERIOR | 61D e I e puae) PLoT -1
CONCRETE HEAD (2 PER STRIKE PLATE

FIN SCREWS

NO. 8 X 1 1/4" SMS
OR 1 5/8" DRYWALL
SCREWS WITHIN 4"

DATE

NO. 10 SMS WHEN INTO
WOOD HEAD (2 PER STRIKE PLATE) VINYL NAIL FIN
(OPTIONAL WITH

SHEAR "SCREW

NO. 10 SMS WHEN INTO
WOOD HEAD (2 PER STRIKE PLATE)
VINYL NAIL FIN

(OPTIONAL WITH

8Y

OF CORL\IERS & MAX. SHEAR SCREW SEE "CORNER DETALS" INSTALLATION)
10 1/2"0C. INSTALLATION) ON SHEET 8
SEE "CORNER DETAILS" \ 3
ON SHEET 8 ———\ 48C B \ / :
. 3 31/2" 3
Y= S :
NO. 10 SMS dh / \ in 5
WITHIN 4" OF \ M / e . X 2
CORNERS & . SHEAR SCREW i ¢ . -
N MAX. 12" 0.C. =1l | INSTALLATION I S S
NTo BUCK f ' SEE' OTHER ELEVATION \ >
SHEAR/SCREW NO. 12 SKS 1o FOR CLIP INSTALLATION .1\ \ ) <
(2 PER TOP INTO BUCK Y | u@ \ )
HINGE) INSTALLATION (2 PER TOP i/ | /2 z
SEEOTHER ELEVATION HINGE) . y 4 7N . o] -«
@ 503 CLIP INSTALLATION : 312 424 7/8" MAX. D.LO. -] : \ E A TEE:
; g 1 j ] H + Z3%
: b macTve | | lacrve Y B - o macve | [ | slacive N N
< N /‘/ | i) ACTIV all % N s | o \ z ! 9zZ5R
S/ M = = < 5 ozZzgx |
= 7 w24 778" wax. pLO. | || A S 6 ' N e lglet=s
> NS \ | / _ Z|Z05 6
X | > - . 31A & 32 ) of - Z = Zz =2
= \ / = - \ | o = 8 e = C:S Co
" 1] 618314 & 321 || wa i N SN il i1 |8 s> 18202
| | f"% I E" \ 2 S| A screws N / TlzRERET
N NN / 5 | NO. B X 1 1/4" SS|' & 1palihinis / E 2k Z
~ \¢ ol (1l |eLAT / | F g ] \ VRl / g o
N y 5 OR 1 5/8" ORYWALL @@ f_@ / gE S
9 |l y 2 SCREWS WITHIN 4° £ \ }/ A E ° 5
NO. 10 WS | ] N | wl I 3 OF CORNERS & MAX. \. HANDLE j r(/ % S| 2 g
WITHIN 4" OF | NDIE v . I 10 1/2" 0.C. RN ) = INSTALZATION Ol B  gne
CORNERS & | \\ l <)/ . N HHH—E & / CLP 4" FROM = | wedsh
" - : < \ / / '| CORNERS & MAX. 52 .’z
MAX. 12" 0. | - \ HiH——e  &| ., i > . iy , / | CORNERS 2| &%e3
it - \ / — > = E o= gﬁh
| o= 5 Lp) o Z T . = = =
! B % N el 2 E ) o ~ [ ] S| w3ies
ji o NEl I T GO-P |1/ & ! = | 228
il v ‘@ = - HINGE . : _ \_5,_\%T . : : 23 |pB0ak]
i I T | | | @ - = 2. 8
| L\‘ @ "0, 10 SUS WHEN INTO (1: é;N ETéé’Cﬁ“ﬁ&'”?"z”' chF @ i ”A g&c%%)su (2 PER STRIKE g = z
1/4" TAPCONS WITHIN 4 OF WOOD SILL (2 PER STRIKE ol 0C. 74 3 / 16 X 95 DOUBLE g
PLATE) WHEN INTO CONCR , . j
%aE:ElRNsTO&Cg%RgTzE 0.C. 74 3 / 16” X 95" DOUBLE @ 1/4” TAPCONS WHEN INTO o
y = (1: 6:& RTSFEC%TLSL V(JIZ-IEEIEFIQNTO NO. 10 SMS WITHIN 4" OF @ TRAPEZOID FRENCH DOOR g?gﬁEE;ELAf'EL)L (2 PER z &8
. CORNERS & MAX. 12" 0.C. , — 2 L3
cNghh}EoRsShf&s A:I&Hlﬂzi Oog @ EXTENDED QUARTER ROUND STRIKE PLATE) WHEN INTO WOOD FRAMING - SCALE:3/4"=1'-0 é: %Z
* e n 1 ” z
WHEN INTO WOOD FRAMING SCALE:3/4"=1'-0 = &
APPROVED AS COMPLYING WITH THE o) o |_Iz_,ﬂ-'
SOUTH FLORIDA BUILDING 00{15 g_ &
=
NOTE: FOR COMBINATION OF ALLOWABLE DESIGN LOADS FOR JAMB FASTENER EMBED & EDGE - DAT b
. NON—IMPACT ON - . T BY : —DRAWING NO. REV.
UNITS, SEE SHT. 3 & MULLION i SEE "NON-IMPACT LOAD TABLES” ON SHEET 12 DISTANCE REQUIREMENTS SEE SHEET 3 cronule = 10030 "
DRAWING NO. 1003E IMPACT UNITS |+65 PSF/-70 PSF ig'ég;'ﬁ;;"j;"”"f‘“zéi,n ZSHEET N°-1 3
. oF




SEE "CORNER DETAILS"

37 5/8" MAX. OSM ———~1

ON SHEET. 8 ‘ :
Y=

\

NO. 10 SMS

WITHIN 4" OF

CORNERS &
MAX. 12" 0.C. |

FIXED

75 7/8° MAX. D.L.O

\

%

- 24 7/8" MAX. D.L.O. —

e1
1

Te

P

1/4" TAPCONS WITHIN 4™ OF

CORNERS

& MAX. 127 0.C.

WHEN INTO CONCRETE

NO. 10 SMS WITHIN 4 OF
CORNERS & MAX. 12" 0O.C.
WHEN INTO WOOD FRAMING

FIXED PANEL DOOOR/SIDELITE

SCALE:3/4"=1"-0"
SHEAR SCREW

INSTALLATION

37 5/8" MAX. OSM ————

G

~— 4" MAX.

27

VINYL NAIL FIN
(OPTIONAL WITH
SHEAR SCREW
INSTALLATION)

[F

I'F

Tt

75 7/8" MAX. D.L.O.

%

FIXED

7 TF

T,k

24 7/8" MAX. D.L.O. -~

%

\

INSTALLATION
CLIP 4" FROM
CORNERS & MAX.

127 0.C.

95" MAX. OSM

127 MAX.

LM

-

4,1

FIN SCREWS

NO. 8 X 1 1/4" SMS

| OR 1 5/8" DRYWALL
SCREWS WITHIN 4"

OF CORNERS & MAX.
10 1/2° 0C.

o

FIXED

-

1/4" TAPCONS WITHIN 4" OF
CORNERS & MAX. 12" 0.C.

WHEN INTO CONCRETE

PANEL DOOOR/SIDELITE

SCALE:3/4"=1"-0"

CLIP
INSTALLATION

NO. 10 SMS WITHIN 4" OF
CORNERS & MAX. 12° 0.C.
WHEN INTO WOOD FRAMING

ALLOWABLE DESIGN LOADS

Nom“}‘g‘m SEE "NON-IMPACT LOAD TABLES™ ON SHEET 12 s
IMPACT UNTS |+65 PSF/-70 PSF 5
5
NOTE: FOR COMBINATION OF
DOOR UNITS, SEE MULLION &
"~ DRAWING NO. 1003E g
i
3
ALL ELEVATIONS VIEWED|| |%
FROM EXTERIOR =
4
g
JAMB FASTENER MIN. ﬁ
FMBEDMENT . z
NO. 10 SMS INTO BUCK = 1 3/8" LJ e
NO. 12 SMS INTO BUCK = 1 1/2" el Sk
1/4" TAPCON INTO CONCR./BLOCK = 1 1/4 =128 < o
225N
JAMB FASTENER MIN. ” é%%&‘,
EDGE DISTANCE § £52 %,%
WOOD JAMB & BUCK = 2 g @ -
CONCR,/BLOCK = 2" r BERE~
: Q (&)
ZE &
4E S
[P
O o]
sl ¢
" dh
C;D ] < BOR
Z s &2
2| gtk
o WQT¥
= | B5ER,
2| =558
=z W B«
s | $285)
43 10 03 285
2 |3z oy
: 2. &
g 8= £
o
z o
o] ke
b nz
& $ui
APPROVED AS COMPLYING WITH THE 3 Zo
SOUTH FLOR!DA BUILDING CODE E
z
DRAWIN . |REV.
BUILDING CODE COMPLIANCE OFFICS LSEQE-;” 20
ACCEFTANCEND.OZ- 123002 || 3 e 13




—

1/4" MAX. — FRAME MAX. OSM NP Z::E::?m DL -
SHIM (TYP_) 57A KEEPER PLATE HELD TO ASTRAGAL SHIM (TYP ) LA °3M=
MIN. 2X4 PT 1 WITH 2 NO. 8 X 1 3/4" SMS @ @ ' PLOT: 21
WOOD BUCK .‘\ / . INSIDE MIN. 2X4 PT||w
BY OTHERS v INSIDE , WO(.)DZBUCK E
o 7 --\BY OTHERS
, ) \ ‘ 3
S N
R ATTNAVALTLUARLANY E \ @ E
| \v/ / \ :
X ~ © g
AN YRR TASAY 2 i
WA \ / / g
MDA L7 ., J - N
O a N
@—/ SILICONE SEALANT =) 2
& SCREEN SPLINE <
5 283
39 63 Z o3y
n=z .9
orfiona. {1 6AAT6B SEE "GLASS DETAILS  |QUTSIDE SECTION /74 OUTSIDE 04 e 0 §:Z:(E?),.T_
SHEAR SCREW NSTALLAT ON SHEFT 9 SCALE: HALF FULL SIZE \ 4 z255 %
B LLATION| SEE "OPTIONAL JAMB DETAIL” ON SHEET 9 |__CLIP_INSTALLATION | . =200
FOR DIRECT MOUNT TO BLOCK OR CONCRETE 0w ESmZh
" " ¥ X NO
1/4" MAX. —~ |= FRAME 0.S.M. - 1/4" MAX. SE 2
SHIM (TYP.) 1 57A SHIM (TYP.) - g 9
Q Q m
(29 —wn. 2x4 1 51 2 2
\ INSIDE WOOD BUCK £ Y, a8
< BY OTHERS C Q3R
g & @_\ ¢ S K
@ @ | S| eEgt
ATARIV AR Y - (j) Eé Sg§
<€ EIT
_ @ J S 5% 538
) /.~ O |- E2 |50 85
4 \ /1 A \(// B ©S g = <3 §§'?.
. : £D 2 g
. TI\\\\ ALLAL LAY \II\ 38 4414111111110 4 - §<T:' S z
5 i \ /' N \\/ / B
| AN /s & .
B e —— o == — o
e O | .
E L 58 e \(F
& Oan
sicone seaant  ON SHEET 9 : 16A)168 St Ez N
38 OPTIONAL & SCREEN SPLINE OUTSIDE 2 APPROVED AS COMPLYING WITH THE  |[© ‘é 5"
S E CT | O N m SE CT l ON ﬁz—z\ SOUTH FLORIDA BUILDING CODE g
DATE .
SCALE: HALF FULL SIZE \U SCALE: HALF FULL SIZE W BY% BRAWING NO. |REV
PRODUCT€ONTRCL DIVISION 1003D l '
[SHEAR SCREW_INSTALLATION] | CLIP INSTALLATION ] BUILDING CODE COMPLIANGE OFFICE || SHEET NG.
ACCEPTANGENO, 0O (030.02 || 4 o 13

_ |



£ NI
@ T \
OPTIONAL [~ \
SEALANT =T
& BACKER ROD 2]
BY OTHERS =

MIN. 2X4 P.T. WOOD
BUCK BY OTHERS (TYP.)

16A)168 /\V\’

& B

\\&\\V

AN

SEE "GLASS DETAILS

ONSHEHQ:Z//A—

59
OUTSIDE
18 Q
646362
58

18
SN1

\//
ﬁyp

INSIDE

iy

L

</

RAAR AN

—

FRAME MAX. OSM

e

[ 3
Y
b Lo
\EZZ]W_T/ TR T
1Y
L
a i

SECTION

SCALE: HALF FULL SIZE

[SHEAR SCREW INSTALLATION]

SEE "OPTIONAL JAMB DETAIL" ON
SHEET 9 FOR DIRECT MOUNT T0
BLOCK OR CONCRETE.

FRAME MAX. OSM

MIN. 2X4 P.T. WOOD
BUCK BY OTHERS (TYP.)

1/4" MAX.

SHIM (TYP.)

—1/4" MAX.

-1/4” MAX.
SHIM (TYP.) - o\
& BACKER ROD
BY OTHERS
59
OUTSIDE
18
64163162
’
SEE "GLASS DETAILS x
ON SHEET 9 '
® /
1/4" MAX.
1§ SHiM (TYP.)

SECTION

SCALE: HALF FULL SIZE

I CLIP INSTALLATION

DRAWN BY: DATE:
W.W.S, 09/05/00

CHECKED BY: |DATE:

DATE

BY

REVISION DESCRIPTION

NO.

(DADE)

23 BUCHANAN COURT
LONDON, ONTARIO, CANADA N5Z4P9

KML WINDOWS, INC.
(518)681-7012

MANUFACTURER

i
& CONSULTING, P.A.
600 SANDTREE DRIVE; SUITE 2038
PALM BEACH GARDENS, FL 33403
PHONE: 561-775-4902 FAX: 561—775-4903

AWIN
ALUMINUM CLAD WOOD FRENCH DOORS

W. W. SCHAEFER ENGINEERING

CONSULTANTS

SHIM (TYP.)

., SCHAEFER, P.E.
B NO. 44135

MAR 30 200

CERTIFICATION

APPROVED AS COMPLYING WITH THE

WA?U&.D

;{? égROLD!VISION: j

BUILDING CODE COMPLIANGE OFFICE
ACCEPTANCE NO,_ 00 = (030,02

| DRAWING NO.




—

MIN. 2X4 P.T. WOOD e MIN. 2X4 P.T. WOOD s | s/
@ BUCK BY OTHERS (TYP.) @ BUCK BY OTHERS (TYP.) m :233 29/01
TN o SHIM (TYP.) el / @ SHIM (TYP.) ®
& BACKER ROD =53 = & BACKER ROD : ‘% é@— ~ z
BY OTHERS ﬂD/ £ = ~ BY OTHERS Clo == = 2
168 168 (30— == I ¢ 2
) \\\ \\\ 2 ' \\\ \\\ 2 %
. \\\\ \“ \\\\ \\‘\ é
O—1= — = e u !
: A, : A——x @ o
=] Z
II I’ d D
OUTSIDE INSIDE OUTSIDE . INSIDE £8% .
77 JFTEE—® 17 T8 gz R
% % 3%z |
64(63(62 | 40 S 646362 | 40 S 558
58 '~ % 5 T~ % > RO
6A6GR = 6A68 = 0 [ESImZD
18 . 18 - L X gX NQ
[T = | §ihagl = SE £
G = | = | sl = s 3 |
SEE "GLASS DETAILS—"Jj |\ | | —19 SEE "GLASS DETALS— ) \ §| | —(9 s g 3
ON SHEET 9 ) ON SHEET 9 gl g 3
o— L -6 69 o— YL/ 6 67 s 5
\\\\/\\;\\\\/ \‘\;&\\/ § Ed%i;“
o—// ® ea—J7// ® | i
® s e ® s S 3| bzt
& 5 ® Al ® = |, 2500
6eh L L / @ > E p / —Z g U'f 333 2
= S 22 |33 88y
19 N —(9 (19 2 —G59 1
N ™ —
20 = B = )
E’H 3 N /‘@ 1/4" MAX. & E”H S N /@ 1/4" MAX. u
o 3 Y SHIM (TYP.) : SHIM (TYP.) - 25
S a E RN ’ SR - * 3 %
e "ﬁ_q_i): APPROVED AS COMPLYING WITHTHE. || 3 5;5
SOUTH FLORIDA BUILDING CODE é
DAT, : =
SECTION m SEE "OPTIONAL JAMB DETAL" ON SECTION o | DRAWING NO.TREV.
SCALE: HALF FULL SIZE w SHEET 9 FOR DIRECT MOUNT TO SCALE: HALF FULL SIZE PRODYCTZONTROL DIVISION 10030
BLOCK OR CONCRETE. BUILDING CODE GOMPLIANCE OFFICE SRR
[SHEAR SCREW INSTALLATION] [CLIP INSTALLATION | acoepTnce o, 00~ 1830, 02 || ¢ ¥4 3

_ |



—

DRAWN BY: DATE:

MIN. 2X4 P.T. WOOD MIN. 2X4 P.T. WOOD T
@9 BUCK BY OTHERS (TYP.) &) BUCK BY OTHERS (TYP.) e
= ; Go—+—F
OPTIONAL - 2 . BN .
SEALANT F i (TYP.) SEALANT T — M (TP - "
& BACKER ROD P’ 9 & BACKER ROD ”-?’ 5
BY OTHERS ] Q‘/ e B 9 BY OTHERS ] /2@ 2
16A)168 _ = [/ | RN
3 0\ D | 3 0\
DOW 1199 DOW 1199 ®
SLCONE SEALAYE z (49 SILICONE SEALAN ;Q
1 & SCREEN SPLINE b 2 g
M@ —IEx ® | , G—— oy ® \ G0 R
O~ & O~ & 3| &
H < > | )
59 S \3 59 I \9 B3
OUTSIDE e INSIDE OUTSIDE S INSIDE Z8% o
18 : 6AI68 ’ ING Nz .0
B . 18 Bl _ 53¢ 5
(78]
626362 | 40 S 696362 | 40 S £9z8
— > [ — ><. é—’ -
- 58 BAGR = - 58 N6 z o 2go
il = ‘e L SE 2
S £ A | E . B2
SEE "6LASS DETALS— <0V \ T SEE "6LAss DETALS — < \ | A
ON SHEET 9 (oaalt ON SHEET 9 ‘/ , 3 WPy
O—\ QL far—® 69 O— LA 6 g &=els
\ \%\ A Y \%\ Y g u% ::E
7 [ 3| B2l
N o— A9 © 2|22
® ) —@ TV —@
:V 7 Vs ~Z :E:Uto‘d Ség
SCONE SEAATT 3 / E SLICONE ¢ N % E §§ it
3 SILICONE SEALANT 2 1.
3
A 7 = ™ .
B/R @ 1/4” MAX. ] VaZ 1/4” MAX, = £
Vs N VLY SHIM (TYP.) y/aN: WAL SHIM (TYP.) z & g8
@ 4 S E | @ 4 e :_"'E. APPROVED AS COMPLYING WITH THE} % £ o,
g e el B0 g 0¥ sourH"Fho'gﬁA gunsmmscooe i E
=
SECTION /7 > " SECTION /7 ;’ﬁ%ﬁ%
SCALE: HAF FULL SZE N\ 7/ e o Db ookt o SCALE: HAF FULL SIZE \ 7/ RO EATROL SN o0 I
[SHEAR SCREW INSTALLATION] BLOCK OR CONCRETE. [SHEAR SCREW INSTALLATION]| acomTceno 0016200z | 7 13

_ |



DRAWN BY:  1DATE:
W.W.S. 09,/05/00

CHECKED BY: |DATE:
W.W.S. 03/29/01

PLOT: 2;1

NOTE: THESE SCREWS MAY BE REPLACED 3/871/2" W00D
WITH 1/4" TAPCONS WHEN FRAME IS DIRECT TENON MORTISED
MOUNTED TO BLOCK OR CONCRETE OPENING INTO STILE & RAIL

\ (SEE "OPTIONAL JAMB DETAL" ON SHEET 9) & CLUED WITH PiA | I
B T N — (FULL DEPTH OF RAL) 2 7/8" 400 Gk 5
2 S
: )J.LLU_E E /@ / %
5 ; _;_\ <7 ’)\/\ 2
Zt : COUNTER SINK RABBET JAMB TO 3
[ﬂl:l &= 5%5 LAG BOLT 2" N JAMB CORNERS z
> & CAP WITH / 1/4" DEEP
, wmY 1" DIA. WOOD 3
SCREVS PER P/fl\hJAESL—\? N \—@ o | B L -
N GLUE |
e st @ \_@ ’ (33(%2) | | CLAD TO CLAD DETAL|g| £
SLE & 3 N0 R TR JAMB TO JAMB DETAIL SCALE: NTS. 12 i
/\ 3 39 @ " SCALE: N.TS. = 2
gl NN ~ JAMB CORNER DETAILS SES
5 0.8 X 37 sus ~ L eme erer o, STILE TO TOP RAIL CORNER DETAIL — - 282
SCREWS PER (PANEL\ (SEE DETAIL THIS SHEET) SCALE: N.T.S. KJAMB ¢ | = .§
KEEPER BAR (2 INTO — N\ Apr—s =229
STILE & 3 INTO RAL) 65 1 F\\\\\ EI
/%2 /—@ / /:2 1/4'4 ﬂg\ > §§'§§
~ @0 ‘o_’_
| \ : e . A, L/ 0 EImZo
34’ U7 14 L, < /4 1/2 T g (it’x N 8
2 STILE || #7 / g | 8 &
] Lt~ // RAIL //2 1/4"i - B ~
2 s o / v % 2 g
x q /—@ COUNTER SINK i » // g & ano
| q 2 LAG BOLTS 2" i Py W< 33R
2 & CAP WITH e N N 8| 3"z
a5 1" DIA. WOOD ,"7\_ 3 Ol S5a%
. E ‘ "1/2" = P i3
3§ e ThiON MORTSED : X-THRESHOLD & BUWPER o| e,
3) g INTO STILE & BOTTOM .:R N 3| Lpude
Y P RAL & GLUED WITH O <=Z&z)
A 5 PVA WOOD GLUE l B L3 |, 58230
SECTION @ STRIKE PLATES - o s X3 N osnr E [ st
@ S & e T £
SCALE: HALF FULL SIZE 8~/  SITILE TO BOTTOM RAIL CORNER DETAIL cto screw oss (EXTEND JAMB TO THRESHOLD BASE) -
o SeALE LTS THRESHOLD TO JAMB CORNER DETAIL d
325" 425" 225" z S e
200" 0.218" DIA. HOLES 2.50" 0.312"—~{ |- ~—0.312" = g3
0.75" —= t—— (7/18 C—SINK)—\ —' ~—0.75" e {—0.562" t = 0078 | § g 79
| : e ol e 3
—_ £0 AS COMPLYING WITH THE b z
L_‘@' - {i - @ @ ® © / /@ ) Ju M QPOTJF“T?{VFLONDA BUILDING CODE © é é
- \—0.625" DIA. HOLE FOR FLUSH BOLT STRIKE JS g 156" DIA—"0.812" — s J ‘;CT ' : i
. . DRAWING NO. {REV.
PANEL KEEPER BAR DETAIL . ) STRIKE PLATE DETAIL provubzeanrroLovson € | PGS
1/4" X 1" A36 STEEL NICKEL PLATED OR PAINTED BAR NICKEL PLATED STEEL BUILDING CODE Coﬂ 0-/630,02 SHEET NO.
SCALE: HALF FULL SIZE SCALE: HALF FULL SIZE accePTANCEND. £ 071028272 | o7 43

~ |



—

" ' " " ' & CH “Lw : 09:0 n
™ ~ 3/8 GLASS —.1 I__ 3/8 GLASS _.-l_l‘._ 1/8 " efe—2 1/16" - 15/16" °
GLASS 60 @ \ 60 ? . =1~ PLOT: 2:1
I SCHNEE MOREHEAD \ 7T €9 \ 38~ "‘ "
40 S-M 5054 BUTYL \ é z
53 6A7 TAPE SEALANT \ 6A(7 59 | b
(1/8" X 1/47) \ Y 1 N
: EXTEND PET. FiLM ' 53 N @@ % é_é —
. | UNDER STOP MIN. 1/2 ) \ . { It 2
1/2° MN— l/\r S 12" M|N.——t N E e / 0 H ! 'goéggESVOSR NO. ! g
5 BITE X o, L1t (1 ROW OF 6) 2
1 G’@@@ S AR QETE 22 IR RETT \
: y ‘ | ‘ 2
L e L N® ML i |
59 s \ 59 @_/,v N @_//' \\ ) s i
SFINN\E e S\ \Vramem o] E
FILLER (SAM a
L] AS STILES) U] AS STILES) ] AS STILES) ?_ b ? 2 i
TYPICAL GLASS & TYPICAL GLASS & TYPICAL GLASS & - | L LB
GLAZING DETAIL GLAZING DETAL GLAZING DETAIL £8% .
IMPACT_UNITS IMPACT UNITS NON-MPACT UNITS g | |gzg%
SCALE: 3/4 FULL SIZE SCALE: 3/4 FULL SIZE ;CALE.TSGLI;ERUELDL RLASS . ) 5%
3/8" NEBULA GLASSLAM SAFETY-PLUS LAMINATED  3/8" DUPONT DLUBAK "STEP-GLASS" mm " §8§%
GLASS WITH 1/8" ANNEALED/0.06" RESIN/- ~ WiTH 1/8” TEMPERED/0.120" PVB/  j=—2® N 1/8" THICK 2 L
0.01" PET/0.06" RESIN/1/8" ANNEALED 1/8" TEMPERED B ;c/:ﬂ”A;Aﬁcng(s)C4"(2ECE>MSIE|:EOERTN%RS g 3= 38"
T FOR EMBEDMENT REQUIREMENTS) Lo © 2E 3
~—1/4" MAX. A 10 REPLACE AL NO. 10 & 12 L HOLES FOR(NO. z B
v ¢ 6 SCREWS (6 » 2
SHIM (TYP.) ot A BT A SHoWN) 2 z % g
: ' CONT. P.T. SPACER i/ i < B8R
q.\\ - L« S REQD a %i 83l
A T (MIN 3 1/2" WIDE) — - 8| g3
T 7" )
—1%9 s | + a | B5E5,
o | = [ T71 b3 g
Iy ¥ (&) P!
B AN & STRIKE_PLATE_DETAIL MR
< NICKEL PLATED OR PAINTED A446 GRADE A STEEL =2 |[E0° s
— @ @ 6@ SCALE: HALF FULL SIZE + 15 =983,
o =5 E s
= ——(3)) NN £
Ny -~ ([BVA! "\l NG .
// / ‘TST \ [ v T~ X4 P.T oy
il . — MIN. 2X4 P.T. / -
0 ST - °|  BUCK BY OTHERS zl B g8
. © ‘o L~ N | o\
G APPROVED AS COMPLYING WITHTHE  fl15] 25 zo
16A)168 SOUTH FLORIDA BUILDING CODE =" g
(TYP. ALL UNITS) parg_APR 2 6 3
64163162 : BY
SECTION @ OPTIONAL JAMB DETAIL FOR ercubseonmo,owon ) | TR T
SCALE: HALF FULL SIZE BUILDING CODE COMPLIANCE OFFICE :
SIMILAR FOR CLIP MOUNT DIRECT MOlSJCNAL Tg F&?';{SERELE OR BLOCK iy o i

|



[

4.562 VENEER
/_

v

4.562

-

I 0.703

S

N | 4 ] 0.703 |
SR I=: R =
| _ - INEAL NON-IMPACT |,
"7 ) LINEAL WOOD FRAME JAVB @ RADAL WOOD FRAVE yawB  @HNEAL WOOD IWPACT  @HNe ol |
(PONDERQSA PINE) (LAMINATED VENEER) ' GLAZ'NG STOP (PON-BEROSA PINE) g
- ; ' (PONDEROSA PINE) z
4250 - 2187 2500 :
T : . —_— 3 4 I : )
0.963 N » 7— ~ 0,300 o g
l W /W O.%OO / / / / E‘ P 3 : |
RADIAL DOOR STO il
© W00 supsiL @ UNEAL DOOR sTOR @ e 23| | 488
PONDEROSA PINE /_IL L g z S 4
[ — f—1.187 — ~—1.750 —— \\\\ ‘06 { §§§é
5 . =O0%
O'ﬁ 0;; = 2 §§§§ e
—  ~=0500 * | g : &
HRADIAL WOOD IMPACT  (73RADIAL_NON-IMPACT 2125 IFE
GLAZING STOP GLAZING STOP \\\ 2 é““
(LAMINATED VENEER) (LAMINATED VENEER) 9 §n. %:é
1.750 — 2.468 1 § oz ;
5.750 | 3| b3
| _ 4750 7,750 (13 ASTRAGAL L3 | B85
0937 (LAMINATED VENEER) E% %:ag%
- ) 1828 1.629 \\\ 1
WOOD_DOOR ﬁ 5
EXTENDER | 8 R\ |
(PONDEROSA PINE) 2o\ ¢
0.250 @ DOOR THRESHOLD APPROVED AS COMPLYING WITH THE % = \ER’
I~ 2.000 ~] I ' CAP BUMPER : | SOUTH FLORIDA BUILDING CODE = §
o e @ RADIAL DOOR RAIL \ ? o R
ASTRAGAL CAP (LAVINATED VENEER) (@ LINEAL TOP _DOOR RAIL oG Sone copoL ok OFFTE. |—oad0
(PONDEROSA PINE) (PONDEROSA PINE) ACCEPTANCENO.QO’/DZOJZ 10 o 13

- 1.187 —=
l

DRAWN BY:
WW.S,

CHECKED BY:
W.W.S.

DATE:

DATE:

08/05/00

03/29/01

—

}

. PLOT: FULL




r - -]

-~ 1.750 | B 70 B s [T 750_*' e B =" % 2
, ( T )
- 0.810 q 0.078 0810 s
RN s . Lo LS m% - P
1.750 ' ’
JAMB CLADDING OPTIONAL g
s \ 164 (6063-T5 ALUMINUM) @ JAMB CLADDING :
| B (6063-T5 ALUMINUM) g
\ (® WOOD STILE — 1 iy :
| l~0.860-— (PONDEROSA PINE) ' - 2.834’ | g "
/ / / . | | | 2|
!U‘ - 8.922 2§§§
(D RADIAL GLASS STOP | DOOR SILL £2oR
(6063-T5 ALUMINUM) |_|NEA|_ GLASS STOP (6063-T5 ALUMINUM) 2%;%
/ / / 9.000 (6063-T5 ALUMINUM) 4.558 o ngZf—f
‘--—~1.413——1_—~ i o 5672 g §¥N§
\\\\\ 0078\ 0.812 ’. ’I 4 (337 5 2 3
332 o] 0090 i {0060 E1degg
//// — f —{=—0.050 S| Zuaei
THRESHOLD @MULUON CUP @ @ RAIL CLADDING 2 gg%g;
\\\ \\ EXTENDER PLATTED MULLION EXTENDER —={l=—0.050 (= ] o %‘g%%;
(6063-T5 ALUMINUM) — e (3003-H14 ALUMINUM) E; 2RO F81
- o (6063-T5 ALUMINUM) > DOOR_STILE (. 12 fy530
6" - 9" = (6063—T5 ALUMINUM) ’DOOR BOTTOM u
/ 0125" DI HOLES —— - N . DOOR TOP RAIL CLAD ] ;{,’
o T TYTR RAIL CLAD ooz MmO 13 2\
175" & ¢ o 16 GAGE s o (3003—H14 ALUMINUM) % - ‘f
=77 e - 295 e I s recerel o A
D00R_BOTION RAL @NA'L('thY% N @ INSTALLATION CLIP Lo | o Dt B |
(PONDEROQSA PINE) (GAFbVAN%EEmSJIEJEL) @ INT. THRI_‘;SHOLD TR'M BUJLDlE COMPUANCECE SHEET NO.
(PONDEROSA PINE) ACCEPTANCENO, PO~ /0F%. 02 | 11 o 13

L ‘ o



e

—

—

FIXED PANEL
(CONFIGURATION = "0)

PANEL FRAME SIZE (OSM) ALLOWABLE PRESSURE (PSF)

WIDTH HEIGHT POS NEG
15 /8" 82" 136.8 147.3
25 5/8° 82" 90.7 97.7
31 5/8" 82" 76.8 82.7
33 5/8° 82" 72.1 78.3
37 5/8° 82" 65.0 70.0
15 7/8" 85 5/16° 136.2 146.7
25 5/8° 85 5/16" 90.1 97.0
31 5/8° 85 5/16° 76.1 82.0
33 5/8 85 5/16° 72.6 78.2
37 5/8 85 5/16" 65.0 70.0
15 7/8" 95" 134.8 145.2
25 5/8" 95" 88.5 95.3
31 5/8 95" 744 80.1
33 5/8° 95" 70.9 76.3
37 5/8° 95" 65.0 70.0

THIS TABLE APPLIES FOR ANY NUMBER OF FIXED PANELS SIDE BY
SIDE & CONSIDERS EACH PANEL BEING EQUAL IN SIZE.

OPERABLE DOUBLE DOORS
(CONFIGURATION = "XX)

DOOR FRAME SIZE (OSM)

ALLOWABLE_PRESSURE (PSF)

OPERABLE SINGLE DOOR
(CONFIGURATION = "X")
DOOR FRAME SIZE (OSM) ALLOWABLE PRESSURE (PSF)

WIDTH HEIGHT POS NEG
75 5/8 87" 90.7 97.7
31 5/8° 82" 76.8 82.7
33 5/8" 82" 72.7 78.3
37 5/8 82" 650 70.0
25 5/8° 85 5/16" 90.1 97.0
31 5/8° 85 5/16" 76.1 82.0
33 5/8 85 5/16" 726 78.2
37 5/8° 85 5/16" 85.0 70.0
25 5/8° 95" 88.5 95.3
31 5/8° 95" 744 80.1
33 5/8 95" 70.9 76.3
37 5/8 95" 65.0 700

WIOTH HEIGHT POS NEG
50 3/16" 82" 91.3 98.3
62 3/16" 87 77.0 829
86 3/16° 87" 72.9 785
74 3/16" 87" 65.0 70.0
50 3/16° 85 5/16° 90.7 97.6
62 3/16° 85 5/16" 76.3 822
66 3/16° 85 5/16 721 78.3
74 3/16" 85 5/16" 650 _ 700
50 3/16" 95" 89.1 95.9
62 3/16" 95" 746 804
66 3/16" 95° 710 765
74 316" 95" 65.0 70.0

FOR THE "XXXX" CONFIGURATION, THIS TABLE CONSIDERS
EACH DOOR FRAME TO BE EQUAL-IN SIZE.

NOTE: ALL POSITIVE PRESSURES FOR ALL DOORS SHALL
BE LIMITED TO 65 PSF WHEN WATER INFILTRATION

RESISTANCE IS REQUIRED BY CODE.
(POSITIVE PRESSURES LISTED IN TABLES ARE FOR WIND PRESSURE ONLY)

NOTES:

1. THE LOADS IN THESE TABLES ARE AS DETERMINED BY TESTING & COMPARATIVE
ANALYSIS WITH THE CONTROLLING FACTOR BEING THE WORSE CASE OF: GLASS
SIZE & AREA, UNIT AREA, HINGE REACTIONS, STRIKE PLATE REACTIONS,

AND PERIMETER FASTENER REACTIONS.

2. THE LOADS IN THESE TABLES ARE FOR NON-IMPACT RATED WINDOWS

ONLY.

3. THE LOADS IN THESE TABLES MAY NOT BE INTERPOLATED.

NOTE: TABULATED VALUES ARE FOR THE ALLOWABLE DESIGN PRESSURE RATINGS OF THE UNIT SIZES & CONFIGURATIONS SHOWN.

APPROVED AS COMPLYING WITH THE

SOUTH\FLaraDAZB LDING CODE
pae_ AP % 2

BY

PRODUCT.CONTROL DIVISION

BUILDING CODE COMPLIANCE OFFICE
ACCEPTANCENO.ZL ~ /830, 02

DRAWN BY: | OATE:
WW.S, 09/05/00
CHECKED BY: | DATE:
wws. | 03/29/01
PLOT: FULL
w
3
B
z
Q
[
a
4
Q
g
(=]
=z
Q
n
o
[+
o
4
[0)]
—~ a.
a N
<Di n
= Z
= <
.052
2
oz
—Ugc\l
nzZz .0
<o
oZEI
D<lg
Z5E %
= Z
=D ~
[+4 moc’
€3, 2 0
n 15 M
¥ 'C,XNOV
O g ]
Sk &
g 9
I
Q (&) "
G & g
o
E Ll mmab
W 38R
Z<'t°v"|
O o "
of 9 E 8
O Z 352
= | WU
v = YEE
o L 1 E2
3| 53 u3¢8
© <%EII
IT&5 B8R
= m08§§7
E2 |5 %3¢
=2 _.88%%
2z |I3= 8%
2 |6 z
=1
e I8 = [

CERTIFICATION

SCHAEFER, P.E.
NO. 44135

12

DRAWING NO. [REV.

1003D

SHEET NO.

OF

13

_ |



= DRAWN BY: |DATE:
MATERIAL LIST MATERIAL LIST e
PART | REF. PART | REF. FASTENER MINIMUM was, | 032801
NO. | No. DESCRIPTION NOTES ~ ol N, DESCRIPTION NOTES EMBEDMENTS: PLOT: UL
PARTS & EXTRUSIONS 40 - #6 X 1 5/8” SMS SCREW WITHIN 3” FROM CORNERS & MAX. 6" 0.C. 1) ALL TAPCONS "
1 |PF1010 | LINEAL JAMB WOOD MEMBER SEE NOTE 1 41 - | #6 X 3/4" SMS SCREW WITHIN 3" FROM CORNERS & MAX. 12" 0.C. MUST HAVE A MIN. s
2 | PF1231 | CURVED JAMB WOOD MEMBER LAMINATED VENEER 42 - #8 X 2" SMS SCREW 3 © EA. RECTANGULAR JAMB CORNER CONCRETE /BLOCK
3 |PF1358 | WOOD SUBSILL FOR THRESHOLD  |SEE NOTE 1. 43 - #8 X 1 1/2" SMS SCREW 3 © EA. RADIUS JAMB CORNER EMBED = 1 1/4" 2
4 |[PF1351 | LINEAL WOOD DOOR STOP SEE NOTE 1 - 44 - #6 X 3/4" SMS SCREW 2 © EA. JAMB CLAD CORNER INTO CLAD SPLINES
5 |PF1351 | RADIAL WOOD DOOR STOP LAMINATED VENEER 45 - 3/8" X 5" LAG BOLT 1 © TOP STILE & RAL, 2 BOTTOM STILE & RAIL 2) ALL JAMB TO 8
6A |PF1008 | WOOD LINEAL GLAZING STOP SEE NOTE 1 (USED WITH IMPACT UNITS) | 46 - | §12 X 3/4" SMS SCREW 4 © EA HINGE INTO Jama (excLuoing Top binge) BUCK SCREWS MUST |&
7A |PF1008 | WOOD RADIAL GLAZING STOP LAMINATED VENEER (USED WITH IMPACT UNITS) 47 - #12 X 1 1/4" S.S. SCREW 4 © EA. HINGE INTO STILE HAVE A MIN. BUQ,K o
68 |PF1011 [ WOOD LINEAL GLAZING STOP SEE NOTE 1 (USED WITH NON—IMPACT UNITS) 48A - |#12x2 1/2" S.S. OR BRASS SMS : 2 © TOP HINGE ONLY THRU JAMB INTO BUCK EMBED = 1 3/8 5
78 | PF1011 | WOOD RADIAL GLAZING STOP LAM. VENEER (USED WITH NON-IMPACT UNITS) 48C - ]1/4"-20 X 3/4" MACHINE SCREW 2 © TOP HINGE ONLY (WITH T—NUT) AT NO. 19 SCREWS g
8 |PF1169 | WOOD BOTTOM RAIL EXTENDER SEE NOTE 1 49 - | #10 SMs SCREws (1 3/8" MIN. BUCK EMBED) WITHIN 4" FROM CORNERS & MAX. 12" O.C. & 1 1/2" AT NO.
9 |PF1362 | DOOR THRESHOLD CAP/BUMPER SEE NOTE 1 50 - #8 X 1 3/4" SMS SCREW 2" FROM ASTRAGAL ENDS & MAX. 12" 0.C. 12 SCREWS. g
10 | PF1507 | ASTRAGAL CAP : SEE NOTE 1 : 51A - #10 SMS SCREWS (MIN. 1 3/8" BUCK EMBED) 2 THRU EA. STRIKE PLATE, JAMB & INTO BUCK LENGTHEN SCREWS N o
11 |PF1130 | RADIAL DOOR TOP RAIL LAMINATED VENEER 518 | - (’m }AF;C/%'! (WHEN ”‘ELOBE%C;NCR-) 2 THRU EA. STRIKE PLATE, JAMB & INTO CONCR. |  AG RFQ'D TO OBTAIN é E
. . )
E PP;:;; t:zg:g:g;clfp RAL f:imri:;i :/ENEER 52A - #6 X 3/4" SMS SCREW 6 THRU TOP STRIKE PLATE & INTO HEAD JAMB REQD MIN EMBEDS. | & _ <Z(
12 |PF1132 | WoOD BOTTOM RAL SEE NOTE 1 528 - #8 X 1 1/4" SMS SCREW 6 THRU TOP STRIKE PLATE & INTO HEAD JAMB 5 %g
15 [PF1130 | WooD STILE SEE NOTE 1 53A - |1/4" TAPCON (WHEN INTO CONCR.) 2 THRU EA. SILL STRIKE PLATE & INTO CONCRETE Z8Z
(MIN. 1 1/4" CONCR. EMBED) FASTENER MINIMUM %z
164/8| PF1001/1002 | JAMB_CLADS 6063-T5 ALUMINUM 538 | - [#10 SMS SCREW (MIN. 1 3/8" FRAMING EMBED) 2 THRU EA. SILL STRIKE PLATE & INTO FRAMING | EDGE DISTANCE: 2SR
17 |PF1017 |RADIAL GLASS STOP 6063-T5 ALUMINUM 54A | ~  |1/4" TAPCON (WHEN .INTO CONCR.) WITHIN 4" OF CORNERS & MAX. 12" 0.C " . g %3:: -
18 | PF1458 | ALUMINUM LINEAL GLASS STOP 6063—T5 ALUMINUM (MIN. 1 1/4" CONCR. EMBED) ’ - WOooD = 1 " g 3 s §
19 |PF1086 |4 9/16” OUTSWING DOOR SILL | 6063-T5 ALUMINUM 548 | - | #10 S/STL SCREWS (MIN. 1 3/8" FRAMING EMBED) | WITHIN 4" OF CORNERS & MAX. 12" 0.C. CONCR./BLOCK = 2 g0 o
20 |PFI083 |THRESHOLD EXTENDER 2083 T5 ALUMINUM 55 #10 X 1.5" SMS SCREW (SIDE JAMB TO MULL PLATE) | 4" FROM CORNERS & MAX. 12" 0.C. 4 53 RES
22 [PF1295 | INTERIOR THRESHOLD TRIM SEE _NOTE 1 Py T x 2' 172~ SMS SCREW = FRONM CORNERS & WAX 12° 0.C S5 2
23 |PF1172 | BOTTOM RAIL EXTENDER CLADDING |3003—H14 ALUMINUM = — X 1 3/e oS T rron CORNERS 3 12 o.c. = 9
24 |PF1135 | TOP RAIL CLAD 3003-H14 ALUMINUM oA T = Ty x v oS soRew oM CORNERS & WX & e S5 o o
25 |PF1134 [ STILE CLAD 6063~T5 ALUMINUM 575 | = |48 x 2 1/2 sus SoREW - —— &\ 2 $
26 |PF1136 | BOTTOM RAIL CLAD . 3003-H14 ALUMINUM 3" FROM CORNERS & MAX 12° O.C. L] b.gse
27 |PF1214 | VINYL NAIL FIN OPTIONAL WITH SHEAR SCREW INSTALLATION SEALANTS ol ga M
PF1326 58 - DOW 995 SILICONE FOR 1/2" GLAZING BITE 8 Eoé""w
28 | SK1031 |GALVANIZED 16 GA. STEEL GALVANIZED STEEL, INC. (Fy = 33 ksi MIN.) 59 - DOW 1199 STRUCTURAL SILICONE ADHESIVE CONT. CLADDING TO JAMB & DOOR STOP TO JAMB = o Z ’523
INSTALLATION CLIP WITHIN 4" OF CORNERS & 12" MAX. O.C. OTHER % 551 %§§
30 [SK1156 |FIVE KNUCKLE FULL MORTISE HINGE (SIAEIEEYD%%RFEEFLSE); STAINLESS STEEL 60 - NORTON NORGLAZE .0625" X .437" GLAZING TAPE POLYOLEFIN FOAM W/ ACRYLIC ADHESIVE O L%"Q EIE
31A | - |6-U US TRIM SERIES 2000 HANDLE|USE WITH PART #32 LOCKING HARDWARE (BRASS) o _ | TREMCO 440 BUTYL TAE GASKET TRIM_OFF AT EDGES (TYP. AT JAM,B CLAD_CORNERS Eg g 88 §§E
31B |SK1415 [waF MFG. SERIES 1200 LOCKSET |INCLUDES HANDLE & SINGLE DEAD BOLT (BRASS) 62 T |35 AMINATED TEMPERED GLASS, 1/87 TEMPERED/C.120 PVB/1/8" TEMPERED oS 2 953"
: DUPONT PVB WITH DLUBAK STEP 22 133 %y
32 = |G-U 3—POINT DOOR LOCKSET US TRIPACT DOOR BOLT SYS. (USE WITH #31A) 63 _ 3/8" LAMINATED HEAT STR. GLS. 1/8" ANNEALED/0.06 RESIN/0.01 P.ET./ g1 |52 g
33 [SK1193 |KML INTERIOR FLUSH BOLT 1 TOP & BOTTOM EACH DOOR PANEL INTERIOR NEBULA GLASSLAM SAFETY-—PLUS 0.06 RESIN/1/8" ANNEALED
34 [SK1597 |0.945"X2.25"X0.078™ STL STRIKE |1 AT EACH FLUSH BOLT STRIKE (HEAD & SILL) 64 - 1/8" THICK TEMPERED GLASS u
PLATE (Fy = 33 ksi MIN.) NICKEL PLATED STEEL 65 | Pr1371 | FRAME WEATHERSEAL SCHLEGEL i-.n
n, » L] [+ 4
N :'Ml):':.2AS)1SL1.{/244SGTI-:GEIIR-ADSERLKESTZIESE Iﬁ?cci?ETEDPCITECDE NJ}ERQ%ESFJESE JAMB 66 |PF1026 | 0.415" X 0.489" RAINSKIRT SCHLEGEL EXTRUDED FLEXIBLE COPOLYMER é §§
FASTENERS é ) Ag
> ) fas;aj SF{J‘QAT sscsézn-:';lr':w o m::mnr:" FROM ENDS & WAX. 10 1/2" 0C. ALL WOOD USED WITH TESTED UNITS IS MINIMUM GRADE 2 APPROVED AS COMPLYING WITH THE 5 : z
- PONDEROSA PINE. ALTERNATE WOOD SPECIES ACCEPTABLE SOUTHFLOR%DABUiLDl.NGCODE © ;_1;: &
3 | T |#8 X1 1/4" SMS SCREW 2 PER CLIP INTO BUCK (1 EA. SIDE OF BUCK) WITH THIS PRODUCT ARE THE FOLLOWING MINIMUM GRADE 2 5
38 - #8 X 5/8" PAN HEAD SMS SCREW| 3 PER CLIP INTO JAMB WOODS: 1. MAHOGANY 5. DOUGLAS FIR
39 - 3/8" LONG STAPLE WITHIN 3" FROM CORNERS & MAX. 8" 0.C. 2. 0AK 6. MAPLE . _LT‘(\S:BG} So. REV. |
3. CHERRY 7. TEAK BUILDING CODE COMPLIANCE OFFICE ———
4. CYPRUS ACCEPTANCENO, £J=/232.02 | 13 _ 13

_|



